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Warmup 1/(# of days we have had so far in 2020,
Including today)

1. Write the equation of a line in slope intercept form of a line
that has a slope of —2 and contains (1, —6).

2. Simplify using exponent rules.
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3. Find the slope between the following points:(—1,8),and (7,2)




Collect Benchmarks















Undefined Terms

= Point, line, and plane are undefined terms. We
call them this because they are the most basic
terms in Geometry.

= They cannot be defined using other terms.

= These are the “building blocks” that everything
else in geometry is based off of.



e
Defined Terms

= Now that we know what undefined terms are,
what are defined terms?

= What is classified as a defined term?

= Defined terms are terms that are defined by
undefined terms.
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Quick Reflection

Is KJ the same as
JK ?



Collinear




